[[normalized x? probability ]

¢ - [Entries
+ | Mean 05013
. Lstd pev 0.3035

Entries
Mean
Std Dev

i ﬂilmw‘ i ‘ 5”" ,.“1. i '!1 ..
“I'“M ’ ' i"i“u Ii‘i:q ||J|| il

92 4 6 8 10 12 14 16 18 20 09%70.1 0.2 0.

WES
b_:

05 0.6 0.7 0.8 0.9 1
2 Prob(x?)

== DQM_CKF-test_1000evt
e DQM_CKFREFit-test_1000evt
m—— DQM_mkFitREFit-test_1000evt
s DQM_NANTEST_1000evt

< X2/ndf>

it

Ratio

< Xx2/ndf>
< x2/ndf>
[y
0

[y
T[T [T [T [T T T[T TIT T

Ratio
Ratio

-3 —2 -1
10 10 AR(track, jeg’[s)



	Contents
	Page 1


